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= 3,840
o 5,760
01 MZH| 9,600 12,800 A3,200
O Z2FHiEH M8l
4,000 x202 2+ 122]+ 10 9,600
=S 3,840
s 5,760
301 22N = 31,500 43,200 A11,700
& 12,600
s 18,900
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2A: NHEM
M BASECA ZH
el gdss Nd (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
14 J|EI2 43 31,500 43,200 211,700
O BSUISH 2ZAHI
90,000 ¥252t Zt+ 143 31,500
& 12,600
[ 18,900
2201 012tdI0| 9,700 9,700 0
206 =4l 1,600 1,600
01 =Yl 1,600 1,600
O 220! op3t0I0] Z2 03 THZH|
160,000 *10& £t 1,600
301 LPENZ 8,100 8,100
14 J|EI2 A3 8,100 8,100
O 23201 Op2t0I0l =208 2FAH|
90,0002 x 152 £H63| 8,100
Het=EE EMUSESSAAANL(EX) 25,000 25,000 0
T 10,000
= 15,000
206 =4l 5,200 5,200 0
T 2,080
= 3,120
01 =Yl 5,200 5,200 0
O BHNSSHYSXRAAIY H=HI
260,000& 102 £+23] 5,200
& 2,080
= 3,120
301 LB F 19,800 19,800 0
T 7,920
= 11,880
14 J|Et2 &3 19,800 19,800 0
O HBHNSSHHSXRAAI 2ZHAHHI
90,0003 * 102 2223 19,800
= 7,920
= 11,880
A2 9,570 9,570
206 =8l 4,050 4,050
01 THZ=HI 4,050 4,050
O gie|ds Uusuz )y 29
144,000 #2022} 2,880
O ZoUENHE "2 ) 29
17,0003 =102 & 1,170
301 LPENZ 5,520 5,520
14 J|EI2 43 5,520 5,520
O 2Re|EE WSEZZ2 )3 2 AH|
60,000 x26 2t £t *23| 3,120
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A DM
M BASECA ZH
coelr Bdss X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O UMY wWFZ2 08 2AH|
60,0003 102 2H+43] 2,400
WFUHSS AEAIY =8 2,685,922 2,599,140 86,782
[ 96,000
T 2,589,922
KNHEMH =35t 2¢ 1,033,642 802,000 231,642
OISEY SSHH 2=(35 ESSAMHIA 75) 226,642 145,000 81,642
101 @124H| 37,882 39,000 AT1,118
M ORI22IS 2% 37,882 39,000 AT
O DIf=ME 2% K22
(M, HE=22) 21,750
A== 80,2402 x222 QN B+ 1 15,888
-RE5g 80,2402 x4 L +QIN B+ 1 2,889
-AXt=E 80,2403 0L x1H 723
-l 288 250,000 9 2,250
O DicHl=sHE 2 JI2ZtM22 At
(Bt OHE2R) 10,876
== 40,1202 x2S+ 1 7,944
-Fe5< 40,1202 x4 20N S+ 1 1,445
-AXt=E 40,1209 «1 362
-l 288 125,0002 02 1,125
O H=&g ef 175,2003 2 »15& 5,25
201 =3 48,360 40,000 8,360
01 At22t2lt] 28,360 20,000 8,360
O DicH=HE 2 AtR2el] 28,360
2 52434l 20,000 20,000 0
O DicHl=HE 28 SS29| 20,000
206 M=l 10,000 10,000
01 M=4l 10,000 10,000
O Olhei=sHE 29 M=8l 10,000
301 LEtE NS 20,400 20,000 400
14 0Bt 2as 20,400 20,000 400
O DicHl=HE 28 T2 JA=g
60,0002 342/« 10 20,400
401 Al HIZL 201 100,000 30,000 70,000
01 Al&H| 100,000 30,000 70,000
O DicHli=HE 2 A& 100,000
405 KHoHF S| 10,000 6,000 4,000
01 ML ESFSHI 10,000 6,000 4,000
O D=l 29 25(871) 7L 10,000
Otesd SsHH AE5(XYss =208 29) 807,000 657,000 150,000
308 AtAIEHMSOIE 807,000 657,000 150,000
08 w=J |20 2 X 807,000 657,000 150,000
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A DM
B AHSHAH|(DSHMY)
el JI=2 3 (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
AY2LZH(NSFHA) 75,570 69,178 6,392
=38l 75,570 69,178 6,392
JI=23Hl 75,570 69,178 6,392
201 fer= 3| 47,250 34,390 12,860
01 At 2t 47,250 34,390 12,860
O ArR2teld] 52,500,000& *90/100 47,250
202 04| 22,680 28,728 26,048
01 =LHO LI 22,680 28,728 26,048
O =0 90,0002 *30 * 122 x70/100 22,680
203 HR=H| 5,640 6.060 A420
M FAZSLRFEI 5,640 6,060 A420
O usdxl 28 24|
470,000 12& 5,640
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